Complete the sentences.

JeTe")(Ta'e ) Te'e"

equal groups of flowers.

There are

There are flowers in total.

Complete the number sertences for the array.

00®
000
000
i+ +

X

Five people have B grapes each.
How many grapes do they have altogether?

grapes

Complete the bar model.

35




Teddy has 32 cars to tidy away.
He puts 8 cars in each box.
How many boxes are needed?”

boxes

Tick all the statements that are equal o 8 X 2

2X8
7TX2+2
HXHY
7X2+8

A blue hat costs £9
A red hat costs 4 times as much.

PLAN(

How much do the blue hat and red hat cost
altogether?




Fill in the boxes.
Use a different number in each box.

MH -

=24 +

Complete the missing number.

XH4=32-+H

I am dividing a 2-digit number by 3
My answer is a whole number.

What could my missing digit be?

=3

List all the possible answers.




